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H 57 2025/03/01
No. U —&—4 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | JEPT
T H Waltz
1 I BEZAY 4 4 4 4 2 4 5 5 4 5 4.0
4 AR YEEE 1 3 2 3 1 1 2 1 3 6 2.0
5 JENE 1EE 3 2 1 6 4 3 4 4 2 1 3.0
7T K% T 2 1 3 2 3 2 1 6 1 2 1.0
8 | Wtk R5Y 5 5 6 5 6 5 6 2 5 3 | 5.0
10 | BEA B 6 6 5 1 5 6 3 3 6 4 | 6.0
fE H Tango
1 mIE M2 1 1 3 4 2 4 4 3 4 2 | 3.0
4 | 8K UEEE 2 4 4 6 1 2 2 6 3 6 | 4.0
5 JENT R 5 2 1 2 4 1 5 5 1 1 1.0
7 A% TH: 3 3 2 1 3 3 1 4 2 3 2.0
8 | MEEL RAY 6 6 6 5 6 5 6 2 5 4 | 6.0
10 | JRA R 4 5 5 3 5 6 3 1 6 5 | 5.0
& H Fox Trot
1 It Bz 3 2 3 2 1 4 3 1 3 2 | 2.0
4 | 8K UEEE 2 3 4 4 2 3 4 4 4 5 | 4.0
5 JENT R 1 1 1 5 4 1 2 3 1 1 1.0
7 A% Ttk 4 5 2 3 3 2 1 6 2 6 3.0
8 | MEEZ RS 5 4 6 6 6 5 6 2 5 4 | 6.0
10 | BEA 6 6 5 1 5 6 5 5 6 3 | 5.0
fE H Quick Step
1 It Bz 1 1 3 2 2 4 4 1 3 2 | 2.0
4 | 8K UEEE 6 3 4 4 1 2 6 4 4 5 | 4.0
5 | BN (g 3 2 1 5 3 1 1 5 1 1 1.0
7 A% THE 4 6 2 3 4 3 5 3 2 6 3.0
8 | MEEL RS 5 4 6 6 6 5 2 2 5 4 | 6.0
10 | BEA 2 5 5 1 5 6 3 6 6 3 | 5.0
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No. | U—H&—%4 W T F Q A AR
1 mH BEZAY 4 3 2 2 | 11.0] 3.0
4 K VBEE 2 4 4 4 | 14.0| 4.0
5 JENT 1EE 3 1 1 1 6.0 | 1.0
7T A% TH 1 2 3 3 1 9.0] 20
8 | JEEL RS 5 6 6 6 | 23.0] 6.0
10 | AR 6 5 5 5 | 21.0] 5.0
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H +f  2025/03/01 TaT FANE A S [VaT T ANV]R = — A
YEEE| BEES | K V—& —4 R—hF—4% il g |W | T | F | Q |&#%
1 w2 YIF BETY W3 | 4.0 3.0]2.0] 2.0
2 A PR A YER s
3 WA WO BREE eI s
4 AR VR M ATE WAL | 2.0 4.0 | 4.0 | 4.0
5 JENT TR B ST 1A 3.0 1.0] 1.0 | 1.0
6 Ki# 1 BT KE e s
7 A% TH: PpE P #wofr | 1.0]2.0]3.0]3.0
8 EEC BST Al HEE #6AL | 5.0 6.0]6.0]6.0
9 HiE JRE HE YER s
10 A AR R FHk #5067 6.0 5.0|5.0]5.0
11 e B BT A= e s
12 Sl Y rZW b YETR S
13 PNl N VN
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